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O S 5 U A7E 22 A2 o= A a2 e,

@ 8.356+58=1 ---2.556

@ 8.356+58=1.4 ---0.236

® 8.356 + 5.8 =1.44 ---0.004
@8.356 + 5.8 = 1.4406 ---0.0052

® 8.356 + 5.8 = 1.44068 ---0.000056

@ 8.356 + 5.8 = 1.4406 - - - 0.00052
<HAE> 5.8 x 1.4406 + 0.00052 = 8.356
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712]7} 401.92 cm

B

A9 DFE16 x 3.14 = 50.24(cm)
HA AF= HAZE e 223t
Agjet gonz

(Z=Zt HH )

=(&A A)+(HA S EF)

= 401.92 + 50.24

= 8 wabA HAl= 8HH FHEFUTH




2
s
o
1o
i

o] 99 Zdol& s 2.
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8cm

> HE D 75.36cm

A9 A& 20cm, F2 Ao A& 4cm
(20 x 3.14) + (4 x 3.14) = 62.8 + 12.56
= 75.36( cm)
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Aot &51o] 9] FEA ] g 98.1kg, Bet w7101 FFA €]
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A+ 27+ 4= (98.1 + 84.9 + 78.2) + 2 = 130.6

A= 130.6 — 78.2 = 52.4
SA=130.6 — 84.9 = 45.7

52.4 +45.7 = 1.146 - - - = 1.15(4H)
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(GHO] 712) = (T Y] E9] do])
= (BHY #F) x3.14
(R 2] 2] =)= 314 + 3.14 = 100( cm)

(271%52] &Eo])= 314 — 100 — 100 = 114( cm)




